Electric Drives Linear Motion and Rexroth
and Controls Assembly Technologies Pneumatics Service
Bosch Group

ERBER R - ENfRR=S

4T~ m, %5 PE4

=T




2 Bosch Rexroth AG | Pneumatics

R EAR » EHEEE
#3Et=m, %3 PE4

ENEREE, 775 PE4

5, 251 CN2

RS
> {EEE, M8, 4-8t » FFALEC AR SELR R, 4-8F

> FFXIESEE: -1 - 10 bar » BFH) » HIHISS: 2 x PNP » BFiEE: Sk, M12x1,
4-8t » EHTSEERT: SMEL, G 1/8 » ERREXEREE
P4

AFRSENEEENEZAN, 7 PE4

=N
[

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEFE, ELPDF, $IETF 2011-10-15, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 3
HREBER - ENHE-RS
ENER2E, 25 PE4
> FXENTEE: -1 - 10 bar » BFHY » #HH{ES: 2 x PNP » BFERE: ZiEL, M12x1, 4-8 » EEZESERERT: 5
124, G 1/8 » EH R A {28
MERT HITEN
Lk LED B R5E, 3L
ESRAETRAT 2RI;TRE
FRIBIEBRE B H/E R (T ARB R R EKIEE)
MNERE B/ME/RKE +0°C/+50°C
mE/EENREE +0°C/+50°C
B EH=R
EHZSHHEHE 0 mg/m3/ 1 mg/m?3
ERE S max. 109
(XYZF[E)
Rz 1 10-55Hz, 1,5 mm
00124021 (XYZjJ_r_])
BERMAE % (NRLEDIER) +3%
BE (100%HEE) +3%
EERERY% (BXTF4&E) 1%
SR 8] <5ms
FxRE AT SEE0-100%
REEZER AHEE0-100%
i AT
T{EBEDC RIVEK 10,8V -30V
BERThEIHFE <55 mA
HHES 2 x PNP
MEBFG(FXEE), ERB, sXE[A 0,18
Vg sk B3 42 B FF < 1 HH i
REMNE T=
BEEFA i, mE
BidhER
BrirsELR IP 65
EE 0,035 kg
ik
IE FEREREE
FEE iR, #R
BARMEE
B FIAEHNBPERRERTRAREREHSHENERL. EEHSHENBRRE IP40EMA.
R ARG R AT LR EHLREB N ES T RIET.
£ FRENEE HBERE b3 B
=R/IVERK
[bar]
- PE4-P2-G018 -1/0 5 bar 1)| 0821100099
- PE4-P2-G018 0/10 16 bar 2)| 0821100100
1) BRAT&E A bar / kPa/ mmHg / inHg
2) BRATEEA: bar / psi / kgf/cm2 / MPa
T R
HEFIRRNT RS ANEEN RO CERERFER, #FEERIEN MY E

K @m-BF, 'ELPDF, #IEF 2011-10-15, © Bosch Rexroth AG, #RE8 & FI




4 Bosch Rexroth AG | Pneumatics

RRBRR - ENIERELS

ENERERE, 25 PE4
> FXENTEE: -1 - 10 bar » BFH » WIHIES: 2x PNP » BLTFER: STHEL, M12x1, 4-6t » BRSTERERT: 5

$RLY, G 1/8 » RGN IEREEE

EFEE
g
4)——
2)%
\@\\\;ﬁ 7
1)7J\\ ‘ ‘ -
3)/ | o A
A3 _| A2 A1
G G1
_
'
5)— o A @ o @
LI it
N
‘ ‘ | o
G2 m
T 7)
1) +UB
3) GND
2) M Ak 2
4) i X 1
5) LED FF &4t i 1
6) LED ¥ <4 i %2
7) #HiS#E0O
A A1 A2 A3 B B1 B2 C C1 gD G G1 G2
30 21 10 11 30 21 10 29 9 34| G1/8| M3x4| Msxi
TR

HAEFIRIRNMREE N ERM RO CERAER, FMERIE RS
SFER-BFE, ELPDF, $IETF 2011-10-15, © Bosch Rexroth AG, R EBHLF



Bosch Rexroth AG | Pneumatics 5
ERBERA - EhkRE

%3 PE4
B

EEEY, R CN2
> HEEE, M8, 4-81 » FKXHYILK, -5t

MERE s/ME/REKE -40°C / +85°C
Vif7ake 271 IP 65
S&Em 0,25 mm2
ik

RO B

00107009_a

BAMEE
B AENRPEZRERTFEREIREARS.

BHSED iﬁig it -4 45|45 HARE L Bk =RiB

[EO1] [#02]| [V DC] [m]
) H% 180° 3| Fig. 1 1834484144
N :
- H% 180° 5| Fig. 1 1834484146

2>—— 2Rk
3y gy | fEEE M8, 4-8f ’Wi?ﬁf 44t 24 4| =20 TR 3| Fig.2 1834484145
T 200° Ty 5| Fig.2 1834484147
Fig. 1

4 x0,25mm 2

29,7
M8x1

(1) BN=1z2f& (2) WH=Hf& (3) BU=IEf& (4) BK=2& 7
L=

Z
I>Z

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-15, © Bosch Rexroth AG, %88 & B4AFH




6 Bosch Rexroth AG | Pneumatics

RRBRR - ENIERELE

%35 PE4
Bt

Fig. 2

18,2

10

4 x0,25mm 2

00127634_2

29
16 20
2x @4,5
e
—
N
o) - §
<
) -
0
<
00128789 _ -
] 1,5 2x 3,4
00117220
AR LoEs] xE B
[kl
R412000333 ki W 0,275

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, E4PDF, #IETF 2011-10-15, © Bosch Rexroth AG, 1R & XALF]




Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
15-10-2011



	&#21387;&#21147;&#20256;&#24863;&#22120;, &#31995;&#21015; PE4
	&#36830;&#25509;&#30005;&#32518;, &#31995;&#21015; CN2
	&#29992;&#20110;&#30005;&#27668;&#21387;&#21147;&#20256;&#24863;&#22120;&#30340;&#22266;&#23450;&#35282;&#38050;, &#31995;&#21015; PE4

